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1. Which table BEST represents the relationship between n, the position of the term in a
sequence, and the value of the term defined by the rule s,

A

Position 112134 ]|n
Value of Term 8|13 (18|23
B |Position 1123 |4]|n
Value of Term 2|1 (4|7
C. |Position 21 3|4 |n
Value of Term 27 12|17
D- | Position 1123 |4]|n
Value of Term 5(10] 15| 20
2. A sequence is defined recursively as follows.
flh=¢6
fI:JJ :I = l—fl:n

What are the first five terms of this sequence?

1)

37

Aeanr o
B. 1 1 1

6, 2. T

1 2 1

C 66v.67.7.7+
D. 1 1 1 1

B, 55—. 5;—. 5:_ . 55—
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3. A sequence is defined recursively as follows.
a1 = 3§

ayc1 = 05ay

What is the value of ;- ?

A 0.125
B. 0.25
c. 2
D. 4

4. If EFGH is an isosceles trapezoid, what are the coordinates of H?

410

fuy

.
L J
x

—x

1079 T8 7 T6 75 T4 73 "2 710 *1 42 43 kg 45 45 +F 4B +9 410
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"3
4
-1
"B
=7
]
]
I =10
L ¥
A (4,1)
B. (51 1)
¢ (7, 1)
D (8, 1)
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. The graph of the line y = "3x + 12 intersects the x-axis and y-axis to
form a triangle. What is the approximate perimeter of the triangle?

A 13 units
B. 16 units
C. 29 units

D. 45 units

- Which set of coordinates could be the vertices of an isosceles triangle?
A (1,77),(1,73), (4, 72)

B. (0, 2),(3,3),(3,7)

C. (1,76),(1,73),(4,71)

D. (74, 2),(3,3),(1,7)

- Which is an equation of a line perpendicular to the graph of 2x - 3y =
1772

A 2x =3y =7
B. 3x-2y =17
C. 4x + 6y = 19
D. 6x+ 4y =9

- What is the slope of a line that is parallel to the y-axis?

A 1
B. 0
c. 1

D. undefined
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9. Which is an equation of the line parallel to 2y — 6x = ~2 that passes
through the point (2, 71)?

A y=3x-5
B. y=3x+5
C.y=3x—-7
D. y=3x+7

10. A linear function is shown below.

[
P

A 3x-5y="21
B 3x-5y =9

C. 5x-3y="1
D. 5x -3y =19
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11. Quadrilateral PORS has vertices at P(-5, 1), Q(-2, 4), R(-1, 0), and S(—4, —3). Quadrilateral
KLMN has vertices K(a, b) and L(c, d). Which equation must be true to prove

ELMN = PORS?

A 1-1 d—5
2 —(-5  t-a
B. 10 d-b
—2—(-1)  ¢-a
C.

Vu+i+( 2 9 =\ +a’ + @+ 5"
Vo 92+ 1+ =@ &+ a2

D.

12. The locations of the vertices of quadrilateral LMNP are shown on the grid below.

T—%
N (8, 8)

M(2, 4)

P (6, 2)

L (0, 0)

* X

Quadrilateral STUV is congruent to LMNP. What are the lengths of the diagonals of

STU?

A si= 110 andTV = 15
B 5= 15 andTV = 110
C su=n/5andrv =10

D sr/= 10 andTV = 15
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13. A student is using coordinate geometry to prove . ;i =  rigv. as shown on the grid

below.

M0, c)

L (-a b) N 0. D) T{a b

-

L 4

Which equation should be used to prove 7.~ ;

A NCa d+6 8 =\ata +6 5

Vot +¢ 8 =@ 0+ o
C. Bt i

B.

—a =1 a=a
D. c=F  ¢-4
l—a  O=a

14. 'Which equation below has a linear graph that is perpendicular to the graph of .. —
A y=3
B =4
C. = —dx
D v=dx

15. What is the slope of a line that is parallel to the y-axis?
A0

L4

4

B. 1
c. -1
D. undefined
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16. Points W, X, Y, and Z are marked on the coordinate grid below.

¥
L
5
d—aX
3
2
W ‘ Y
% X
543210 12345
2|92
3
¥
5
h

Which statement below can be used to prove .- | 72

A 4 =1 1.".f1_+ \I—l
L1-2 41 S

B. [izlyl=\_ 1
L1=2 4=l ,l_

C. [ 4-1 7/ 1-4% =1
[ T A I

D.  4-1 7%/ 1-4 \I_ {

LI-(=20 S s-1 )

17. 'What is the slope of a line that is perpendicular to the graph of y= it

A Al
B. 3
4

c. 3

4

D. &

18. The endpoints of a line segment are located at (4, “2) and (h, 10). The
midpoint of the line segment is located at (f, g). What are the
coordinates of (f, g)?

A i=k

| =3 ~4}|
B. |H_';"4\'|
LY A
C. |H_';'~45\'|
L2 !
D. |r+—.a~6*-|
L2 !
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19. Line segment GH has its midpoint at M. If G is located at (72, 4) and M is
located at (6, 12), then what are the coordinates of H?

A (2, 8)

B. (5, 11)
c. (14, 20)
D. (20, 14)

20. A circle has a diameter that extends from (4, “6) to (78, 10). What are
the coordinates of the center of the circle?

A (72, 2)
B. (-3, 6)
C. (4, 4)
D. (-6, 8)

math 1 jan 24 Page 9 of 9

a schoolnet



